7.3 Funciones exponenciales.
Cada ejercicio tiene su valor en [|.
Tarea 9 (obligatoria) Calcular la derivada de las siguientes funciones:

1. [2.0]
tan (x)SiH(CEQ).

RESPUESTA. y = tan (:C)Sin(xg) .
In(y) =1In (tan (x)sm(wz)) = sin (2?) In (tan (z))

4 (tan (z)sm('xz)> )

Lin(y) =L
£ (sin (22) In (tan (z))) = (sin (xz))/ In (tan (z)) + sin (2?) (In (tan (z)) =
cos (2?) 2z In (tan (z)) + sin (2?) L sec? .

% = cos (2?) 2z In (tan (2)) + sin (2?) 12— sec? z, sust. y.

dx

i (tan (x)Sin(w2)> = tan (ff)Sin(x2) (2CU cos (:152) In (tan (z)) + W) )

Otro método
L exp (ln (tan (m)Sin(mz)D = % (exp (sinz?In (tan (z)))) =

tan (m)sm(‘”Q) (cos (2?) 2z In (tan (z)) + sin (2?) - sec? z) .

tan x
2. [2.0]
(5$ + mg)cos(ﬂm) .
RESPUESTA.
d z 9\ cos(mx)
£ (57 + 22 =
(az2 + 5‘”)COSM71 (2:c cosmx + 5% In 5 cos mx — mx? In (332 + 5‘”) sinmx — 5% In (:c2 + 5$) sin 7r:c) .
3. [2.0]
T tan (ac + xz)
(c032 (x) + sin? (x)) (112152)
RESPUESTA.
4 ( o tan(ota?) — ) = 4 (ztan (z +2?)) = 222 tan’ z (z + 1) + 222 + ztan’z (z + 1) + 2 +
(cos?(x)+sin?(z)) m)
tanx (x4 1) .
Note - (tan (z + 2?)) = (tan’z (z + 1) + 1) (2z +1).

4 (tan (z)) = tan®z + 1 = sec’ z.

2 o2 2
sin” x + 1 — sin T4cos wl — S€C2

Porqué tan?z + 1 = cosTx P z.
4. [1.0]
1’2 In(z) )
RESPUESTA.

% (.,L.2ln(m)) = ggp2lnz—1], 0



5. [3.0]
exp (exp (334 ln(”))) .

RESPUESTA.
gdlnz

% (exp (exp (a:‘“n(r)))) = gptma—lgztT e In z.



